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A. Fill in the blanks with to, two and too.
1.To.

2.Too.

3.Two.

4.To.

5.Too.

6.Two.

B.Make interesting sentences with to, two and too.

1.Bobby is going to London.

2. The sandesh is too sweet.

3.1 have two pet dogs. m



C.Choose the correct word.
1.To.

2.To.

3.Too.

4.Two.

5.Two.

D.Match the following.
1.C.
2.E.
3.A
4.B.
5.D.

E. Choose the correct form of words to,two and too
ATo.

B.Too.

C.To, Two.

D.Two.

E.To.

F.Fill in the blanks with to,two and too.
1.To,Too.
2.Too.



3.Too,To.
4.To,Two.
5.Too,To.

6.Too,To,Two.

G.Underline to,two and too in the following sentences.
1.There are two girls playing in the park.

2.Paul wore two wrong pairs of socks.

3.Luke just ate too much of chips. Q

4.My mother bought two kgs of sugar.

5.My teacher will go to the church. ﬁ'

6. am off to school to learn my lesson.

H. Match the following.
1.C.
2.D.
3.E.
4.A.
5.B.



